IMPORTANT ' WHILE SUBMITIING INTERMAL PROJECT

SEPT 2019 il AND

1) The project should be hand written only.

2} The project should be submitted on assignment paper within 2 file.

3) The student chould write his name, department, semester, exam seat
no. and subject on the first page.

4) Swudent should download and take printout of questions to his Roll no.
and sttach it with his answer paper.

5] Student to submit photocopy of fee payment receipt with every
subject.

6) Student should submit the project as mentioned below:

All the students having intemal ATET have to appear fos intemal project
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Roll No: 117
1.

F:" ﬂ";’ﬂ‘;“‘;" using Lagrange’s interpolation polynomial
2 :

H|-12|0]|6]12

Explsin Fleating point of mumbers and Errors
3. | Find the 4th approximaton !
method. m to the sclution of The equation below using the bisection

o= 3" + 5% 4 14x - 16

What is Interpolation method? Giva an exampla.
What are continuss rndom vanables? Explain with 2 sxamplz.

Brepare Newtan's Forward Difference To5 e
A R

gl -t2] 0] 6] 12

{ ]

What ara tha different typas of sron

+ind the 4th 3 1
deketin Ppromaton 1010e soiuton of The equaton below using the secamt
f;’:FEr':tE' #5518 16
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' < sccurte 1o wathin 102 for 23 - 73 34 142 —6=0m |
TR AR TR TR R
. | Let p= 054617 and q= 054601, Use four-digit arithmetic to approsmate p —q and determine

|| the sbsolute and relative emors wsing {ij) ROUNDING and {i] TRUNCATING.
[ 4. | Discuss the comsenation laws and enginesning with re gpect ta mathe matical models
(5. | The fourth-degree paynomial [ (7} = 23034 +18x 3 + 9 2 - 2212 9in [0, Liamect upto 4
. decimal _ place s using Bepyla-Fals method.
Roll No: 132

1. | Soive the following system by using the Gaum-lordan slimination method.
a+b+2c=1

2a-b+d=-2

a-b-c-2d=4

2a=-h+2c-d=0

1. | Find the lzast square palynomial appravimation ofdegres two to the data
x 01234

y—a-141170

A painter has exactly 32 units of yeliaw dy= and 54 units of green dye. He plans to mix 2% many
gallans a5 possible of mior & and wlor B. Each palien of color A requires 4 units of yellow dye
and 1 unit of green dys Each zallon of cdlor 8 requires L urit of yellow dye and Bunits of green
dye Find the maximum number of zallons he can mix graphically

Rita wants 1o buy x cranges and y peaches fram the sare She must buy 5t least Soranges and
the number of oranges must be less than twice the number of peaches. An orange weighs 150
grams and 3 peach weighs 100 grams_lcanne =n £arry not more than 3.6 kg affruits hame, §)
Write 3 inequalities ta represemt the information given above. i) Plat the inaqualities on the
Cartesian zrid and show the regian that satishies all the inegualities. Label tha re gian 5. i)
Oranges costE 0.7 each and peaches cost E0 .90 mach. Find the masimum
buying the fruits,

What is the probability of serting 3 total of 9 ([} twice and (i) at beast twics in 6 tosses of a par of
dice?

: 137

that Rita can spend

A car hire firm nas twe cars which st fires outday by day. The number of demands r a3 esran
each day is distributed as Fousan yariate with mezn 15 Lalcuate the progsrtion afdays on
which {i| neithercaris used ang (i) sarme demand is refysed
Determine the sbsziute ape reistve arracs when approsimating

i p=03000 %108 and pe=0.3100« 104

ii. #=03000 x 10~3 anc pe = 03100 « 10-3

BL  p=0.3000 K104 snd pe =2.3100% 104
Use the Bisection mathod v Find salutans scoarare 1o veithin 10-2far X3 - FX 24 1dr -f a0
ths inhmkﬁ.!&]_
4. | Pragare Nevaen s Bachwars Diffarspce Takle.
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the number ﬁw“bmmmmem*rdmmm orange weighs150
grams and a peach weighs 100 grams. loanne can camy not more than 3.6 kg of fruits home.
1

Write 3 inequaiitics to re present the information given abave.

i) Plat the muﬁumhﬂaﬂu;ﬂ and show the region that satishes all the
nequalities. Label the region 5.
W)  Oranges costE0.70 mch and peaches cost Bs. 090 each

Find the madmum that Rita can spend buying the fruits.
T i

The fourth-degree polynomial f (1) = 23024 + 182 3 +8x 2 - 2212~ 3in [0, 1knrpect upta 4
- decimal places using BezulaFals method.

State the characteristics of typicl mathe matical models of physical world. Explain with example.
Roll Mo: 149

T Stte the characteristics of typicl mathe matical models of physical world, Explain with =xample.
14 Suppase that you have the task of measuring the lengthe of 2 bridge and a rivet and @me up

with 3338 and 9 em, respectively. ¥ the true values are 10,000 and 10em, respectively. compues
(i) the true error and (i) the true percent relative error for sach case. o=

The fourth-degree polynamial f |X) =230x4 + 18% 3 +0x 2~ 2212~ O 10, 1eocract uptn 4
decimal places using Be=ijla-F3ln method.
4

S»:ll‘u:a the fallowing system by using the Gauss-kordan efminstion mathod
G+0+2081

a~bsd=-2

B+h-rc-2d=4

2g-B+2e-4=0

Evaluars (V1 - BX 2dx 03 0 usine Sirmasan's 3/ 8 ruke
Roll Na: 151
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Dicuss the conservatan laws gnden ﬂn:!rrr'-

with respect to mathe matical moosjs
Vhat grs tha diffecent rypas of aoors
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| Find F{0.8); ﬂmﬁ}=-n:mqmihﬁmnmz? fﬂ‘.ﬂmﬂﬂﬁﬂﬁm_ ;

0.65809197 ‘s Interpolation formula.

e

Evaluate [V1 - 03 0 wing Simpson’s 3/8th rule

A petrol pump is :u"indiﬁ petrol once a day. hdairm X of salesin thousands of

librr s & distributed by fix) =5{1 ~x) 4, 0 X 51 what must be the capacity of its tank in order
that the probabifity that itz supply will be exhausted in 2 given day shall be 0017

What is the probability of getting a total of 9 (i) twice and (i} at least twice in & tasses of 2 par of
dice? |

: Green Co i

Roll No: 156

&

Mmmwmmm

How you can minimize axcessive power output from wirsless devicas

Wnﬁeammun cooling optimization by dats center design.

What is Microsoft office SharePoint Server 2007,

B e i

Wiite a short note on Baszal Action MNatwork

e e I 8

I supiectsma

Roll 56

What are the various stdrassing mades of 8085 micraprocassar? [

)

Expimin the instructions LHLD, XCHG SHLD. PUSHand POP. |

Explain program caunter, stack painter and in=rament-decre ment latch of B085 micaprosesar. |

Write 3 short nate on SIM instruction. =3

I:.n.l-

List gnd dascribethe spraal Fertiom reEitess [

Roll No: 121

o &

Deserbe a Misroprocassor based systam. |
Eeplam the warking of the DUT imsruction in 3083 misopracemas ‘l

|
i

Explar the effect of POA srd PLISH instractoran Ssck panter

What s the rurmnnﬂmwh&w !dh‘-ﬂr and RRERTLE it
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During one yaartha nltm nfmﬂ]:pnqu pﬂ'q'l.liﬂtﬂ hraidpnﬁas perloaf was3.00,
whereas during the next year the ratio was 2.00,
i. Find the arithmetic mean of thasa ratios forthe 2-year patiod

i Fmﬂihaﬁiﬂ:maﬁcmmnﬂha ratios of bread prices to milk pricas for the 2- vaar

period.
iti. Discuss theadvissbility ofusing the arithmatic maan for averaging ratios.
iv. Discuss the suitability of the gsomatric maan for averagine ratios.

kol

The followinztable gives the heights of 100 students at XY Z Colleg= Find thamean
height of tha students.

Height

No. Of Students

60-6.
63-63

5

T

6668

)

6371

s

i I

g

T*.tu'.umhlns Xand Y, assume the values X: =2 h-—&th 4 Xy=_Sand¥:=-3,
Yh=o8 'EJ‘]Q Y4 =6, rezpactivaly,

Calculate: (XY, | (LZXTY, (LEXY L PLEXs, vE(X=Y)IX+Y)

On & final sxamination i statistics. the niean erads of @ eroup of 1S Ustdamts was T8and
the standard deviationwas 8.0.In nlga'hm. howaver, ths maan final srads of the sroupwas
73 end the standard daviationwas 7.6 Inwhich E.IJ]J}H.‘I was thars the sreater () sbsoluts
disparsienand {ii) ralativa riiz.pemnn

L mii'.'-}ﬂipchvﬂlv Find o tﬂﬂmnmaudstmdnddmmt on carr2sponding to th
. mrndadﬂm:mF ﬂﬁ Tﬂ l i msq i iy

Foragroup of 2000 muﬁdn’tas thgmalm arid standerd deviation of scores wers found to ba 40
‘and 15 raspectively, Later on liqu.ﬁ discovaradthatthe scoras 43 and 33 ware misraad at 34 -
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